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ACROSS (STUDENT A)

Ask your partner to give you the clues for the missing
words and guess the answers, Ask What's 7 down?

The train leaves from number 6. (8)
This person controls an aeroplane. (5)
This travels on rails in the street (4)
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Similar to a motorbike, but smaller and lighter.
(7)
13 To bring an aeroplane to the ground. (4)

14 A passage between the rows of seats ona plane, =
(3)

16 Ashortword meaning 'bicycle', (4)

17 A medium-sized vehicle for transporting goods.
(3)

18 You need one of these to get on a train. (6)

DOWN (STUDENT B) |

Ask your partner to give you the clues for the missing
words and guess the answers, Ask What's 5 scross?

1 Ashort journey to somewhere and back. (4)

2 Someone who rides a bicycle, (7)

3 InLlondon theyare black and in Mew York they
are yellow. (4)

4  This can also be called a 'truck’. (3)

5 Fuel fora car. (&)

8 Awideroad onwhich you can drive veryfast (8)
10 Thetrainstopsatthe _ station. (7)

11 Ajourney by aeroplane. (6)

12 You must paythis on a bus or train. (4)
15 You drive a car and you a bike, (4)
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